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Sl 2308 25 CERED
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230l =t 21,282,769 14,794,833 6,487,936
= 4,986,223
N 1,300,000
2l 503,045
< 3,156,580
Al 11,336,921
230z s 4,227,929 4,073,395 154,534
= 16,701
Xl 300,000
2l 382,995
< 389,860
Al 3,138,373
Zalet A= 1,387,573 1,477,215 289,642
< 50,880
Al 1,336,693
CoEs A8 131,133 134,860 N3, 727
101 1244l 2,133 2,080 53
04 D12 H22 XS E2 =+ 2,133 2,080 53
OZOThS =¥ HEXY
66,6303 x2& x4 x435] 2,133
201 2Bt2 | 22,640 18,000 4,640
01 At 2t el b 13,140 10,500 2,640
ORoZHEY 2,640
g2 A olths 90,000& 122 1,080
A2 0 A A2 130,000& = 12& 1,560
O0ts HaA & =24 23| 1,500
OZ0iHs & H=2T0 A2 LEL2SH| 8,000
OZ0tHsr 2chZAtbI 500,000& »23! 1,000
02 3224l 9,500 7,500 2,000
Oxuis s32= 3,000
OaxZT A2 28 38R 2,000
OZ0lthsr Jt0F JhAHI 2,250,000& *23] 4,500
206 28 6,000 6,000 0
01 M= Hl 6,000 6,000 0
OZ0ths ME M=zl 3,000
O&SIH0L 2 X W21 MZ24l 3,000
301 eetE o= 60,360 56,140 4,220
07 2B =H 04| 7,000 7,000 0
Od=+=2Jt & 5l2IIAME 2 =3 7,000
NIEtE2d= 53,360 49,140 4,220
Ozdist2g FA=+g
70,0003 «BOAl 2t x4 H %23] 44,800
OXS LA =& 200,000& » 1 »8& 1,600
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M 2H0ED
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ0HME ZAE 120,000 4 H x4 3| 1,920
OdSIH0 &2d ¢ 150,000 »4H x23| 1,200
OJtot 284 120,000 x4 +x8H 3,840
405 RHoHE S HI 40,000 40,000 0
01 L ESFHSHI 40,000 40,000 0
O&EXIl =g 40,000
SEFstat 22l 308,983 238,303 70,680
101 @124l 30,183 22,583 7,600
04 JI2ZtHZ22HEE = 30,183 22,583 7,600
Os=zsa ezael 22,652
A== 60,2403 x 1 x246 14,820
mresgdsrd 60,2403 x 1«52 3,133
S22fE 90,3603 1«52 4,699
o= &g 66,6303 *5H x5 33| 4,998
Og=olf &M = 66,630 *x3H x2 2 33| 1,200
Ox&d= &I &Y 66,6303 »4H x5 1,333
201 Let24d] 51,800 43,120 8,680
01 At 22/l 18,050 12,220 5,830
O Eer==EH| 5,000
Os==sra ML & BEH M 7,000
OSEI2X HI=Hl (&S, &3, &&s S)
250,000& »3H 750
Os=2&a Rolddl &9 700,000& 42 2| 2,800
OS2 AIaA dMEI 2,500
02 2324l 33,750 30,900 2,850
Os=sasra 2Bt | 3,800
A HHS 2A &Y 650,000 *23| 1,300
gALS 300,000& *43| 1,200
SY3 A5 ¥ A 300,000& »23| 600
S=EE8E EY HEex Fa 700
odgs dAzdl(2H) 7,000 *350% 2,450
Oaml B+ 5,000
Oz22= & HA 19,500
Os=aIsta dJjerdze|tHd
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206 M= Hl 4,200 10,200 A 6,000
01 =8l 4,200 10,200 A 6,000
Ox&d= EHl #¢ 4,500 x100 2 450
OxZ=+ Hlzg, XE 5 72 15,000& 50 750
Oaz, &5, M=Hd, 2UR=H 2 1,000
Oxd=+= 7Y 4,000& *250=F 1,000
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M 2oos ds
Sl 2308 25 SREED
SN HH-S(BN) - MBAY - B il HlnE2
Og=adll &M = 66,6303 x3H x2 43 1,600
Oxd=+= &X & 66,6303 x2H x4 534
2 et A | 196,280 196,280
AtS 2t el i 122,840 122,840
OJIEEA 29 72,400
AF 25| 1,200, 000& *83| 9,600
AT X 1,000, 000& *43| 4,000
SHAHE 2IHI 30,0003 x3021 x4 3 3,600
ESE UXANAH(EE, =83E, ZTAH S)
1,500, 000& 42| 6,000
EZE2 NEAUAMUI(EE, =8E, LAH
g) 40,000
EEE REYS 500,000 *43| 2,000
S8 s 1,500, 000& *43| 6,000
IHFA E o
30,0003 x10H 43| 1,200
TZ2)d 29 14,400
WENMH 2L 300,000& x83| 2,400
22 OXieyl 500,000& x83| 4,000
S22 MEAM 1,000, 000& *83| 8,000
OMRES € HS 700,000& 123 8,400
O&F=D Xz 40,0003 «3CH*12& 1,440
odlar #Xxl 420,000& +9H 3,780
OANE BN 2 EB(S4X S)
5,000& x100& 500
Obls A& EII 10,0002 x65+12& 720
OFds(2Z Xt a9) ¢ 4,800
OJIEHEA E 1,500, 000& *23| 3,000
AU == 500,000& »12& 6,000
=2 229 7,400
SEHH 200,000& »12& 2,400
VRE ZHI (8D 2,500,000& »23| 5,000
g la] 73,440 73,440
=23 %2 HA 44,200
LPGR = 1,000& #2,000kg* 128 24,000
&IOR3 1,000,000& »12& 12,000
sot=5, O , dotR=
550,000& = 12& 6,600
e E2E 3| HI
1,300, 000& * 13| 1,300
det=5Ee20l 3| HI
300,000& x13] 300
OA&&EHl Sl 8,640
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S22 A 42
100,0002 * 122 1,200
FOIAHY =22 270,0002 122 3,240
FOlotE B he 242 350,0002 *122 4,200
OARIZ U MARZ g8 2
20,000,000 %14l 20,000
OB L& 50,0008 12 600
202 04 Hl 1,200 800 400
01 22U 01 1,200 800 400
ONEZEZ022 g2 =T 1,200
206 M 2 4l 1,000 0 1,000
01 X224 1,000 0 1,000
OHlZ, MEH 1,000
301 LEtB A2 18,280 0 18,280
11 JIEtB A2 18,280 0 18,280
OFAIA! SHEAL L K20 Aldl Bat 14,600
== 22X 20,0009 x2212 %2 8,840
Yy 22N 30,0002 *96 x2 % 5,760
OZ2NY 2 LA =S (LBHZ 2AI2H)
230,0002 163 3,680
401 AlEH 2 20| 40,000 0 40,000
01 Al&tl 40,000 0 40,000
OFAIRZ o1z 20,000,000 *23] 40,000
MNED2Z SSAIA(BX) 34,000 48,000 A 14,000
[= 9,600
Al 24,400
307 0I12+0| & 34,000 48,000 A 14,000
[= 9,600
Al 24,400
02 DIZHHAALR B X 34,000 48,000 A 14,000
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Al 14,400
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OnrS e stAtY 180,000
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2N 230z
M 2oos ds
& 2oz 245t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Os&otatd 0l 5,000
OE3 23tHE 2 (Xelst2stol 8 A HE) 7,000
O HS=23 ASHA 12,000
OJtgag RA HAEE 5,000
OHM27s S&0l= 3,000
OHM29sl &4&0l=n&®d 10,000
OHM90s HRZES AMESEs & SZAME 1,500
OM243 S2A & 8= StHSAI AU 3 1,500
OH=¢g3s FJI3d 'S 1,600
Ozaog A 2 SEIIZ3 15,000
03 AHHMEE2IHIES 25,000 25,000 0
Oet30E 23X 3 A HE 2| 25,000
230z HAKNA(EX) 66,000 61,925 4,075
< 12,300
Al 53,700
201 £B-2dH| 21,000 46,000 225,000
< 6,300
Al 14,700
01 At 2t 2l 21,000 46,000 A 25,000
O3t U= & HAMXNIA(SS2sAIL) 21,000
< 6,300
Al 14,700
307 glz2+ol & 45,000 15,925 29,075
< 6,000
Al 39,000
02 HAFHAANHEEX 45,000 15,925 29,075
OZMEZH&AB= 25,000
OdsS=0l d2XNEA 4220 20,000
< 6,000
Al 14,000
g3 u=H 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 It M AHEE 20,000 20,000 0
Ogau=n 20,000
d= F0l=0A 18,000 15,000 3,000
307 21201 A 18,000 15,000 3,000
02 HAFAANFEX 18,000 15,000 3,000
ORM31g d==g 0l=Ud 18,000
HIANEUA 12,000 10,000 2,000
307 21201 A 12,000 10,000 2,000
02 UAFAAFEX 12,000 10,000 2,000
OHM32s =SAMIUA 12,000




2H: 230
M 20z s
& 2oz 245t (cho &)
= _ — d =
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=2 NEEststird el (EX) 80,000 65,000 15,000
< 25,000
Al 55,000
307 gl2tol & 80,000 65,000 15,000
< 25,000
Al 55,000
02 It HAHE L 80,000 65,000 15,000
OHM178l MEE23tet0tE 80,000
< 25,000
Al 55,000
SS208A MY (EX) 389,000 336,000 53,000
J| 283,000
< 29,000
Al 77,000
307 glz2tol & 389,000 336,000 53,000
J| 283,000
= 29,000
Al 77,000
02 HAFHAANGFEE 389,000 336,000 53,000
OMAsE SE=238018d XN&A 389,000
J| 283,000
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gel=sn T2 12 23(Bx) 127,550 20,000 107,550
J| 99,995
Al 27,555
201 Let24d] 127,550 20,000 107,550
J| 99,995
Al 27,555
03 A2 S HI 127,550 0 127,550
OstHl=AIXNE (=22, 22238 X
2 2e3) 127,550
J| 99,995
Al 27,555
otz AKX 10,000 10,000 0
201 Let24d] 10,000 10,000 0
01 AP 2teltl 10,000 10,000 0
O2stoes 2 KX 10,000
=2 = X & 12,000 12,000 0
308 A EHHSOIA 12,000 12,000 0
07 IXNHMARE = 12,000 12,000 0
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FSTA =4 750,000 750,000 0
Xl 300,000
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2SN =4 AtY 750,000 750,000 0
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< 135,000
Al 315,000
307 glz2tol & 750,000 750,000 0
Xl 300,000
< 135,000
Al 315,000
02 It M AMHEE 750,000 750,000 0
Og& 23T A 224 750,000
SAZ2e 2H 260,000
Xl 104,000
< 46,800
Al 109,200
SANZs 2435 140,000
Xl 56,000
= 25,200
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SAI2s HY 70,000
X 28,000
< 12,600
Al 29,400
SANEZE HE 30,000
Xl 12,000
= 5,400
Al 12,600
SA2s EA 250,000
Xl 100,000
= 45,000
Al 105,000
SEMA2s 8 572,541 554,921 17,620
= 16,701
< 120,714
Al 435,126
g2EM2 29 167,442 169, 121 21,679
201 Let249] 82,002 77,601 4,401
01 At 22l 28,900 26,700 2,200
Oget>ZH(2E S22, 2 FHl) 14,000
O A2 A 4,200
EZHI(SHMNY &, 23t U= <) 300
SMe g @A 2l 300,000& x53] 1,500
E3It U= & A 29|
200,000& =123l 2,400
OEMN cHEHAES & SEHIX HIES 2,000
O&AMN 3IHE IHE 1,000& *2,5000H 2,500
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SE 23 E=3H| 10,195,785 5,390,439 4,805,346
= 4,954 522
J| 8,050
= 2,103,890
Al 3,129,323
=3 22| 333,547 176,189 157,358
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25 230z
HM: 2o BE&dS
e RS E=FHH| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 172,920 64,000 108,920
OS2 M S HPY oHE Ax < WA
300,000 *307H 2~ 9,000
O23M =S ether Wi 3,000,000 504 & 15,000
OUEALMSY ZIIDH FIF €2 XAt
150,000,000 *99.28% 148,920
03 AlEE2HH] 1,080 0 1,080
OUEALASY ZIIDH FIF &2 XAt
150,000, 000& *0.72% 1,080
405 XHoHFE S HI 3,000 0 3,000
01 XA 2B F S| 3,000 0 3,000
Otilet =2¢ 3,000
S35 2el(EX) 568,294 77,770 490,524
o= 287,294
Al 281,000
101 e1214| 32,000 0 32,000
o 16,000
Al 16,000
04 JI2ZtHIZ22NEES 32,000 0 32,000
O23 M Egels AA2Y9(2Y) 32,000
& 16,000
Al 16,000
201 gEt24Ay| 6,294 7,770 N 1,476
& 6,294
02 Z2=2=24%4| 6,294 7,770 A 1,476
OSXEI2SHM U-otd 2| AlAE X2l 6,294
= 6,294
207 &I & 20,000 0 20,000
& 10,000
Al 10,000
01 24| 20,000 0 20,000
O0tdd MAUXIE=2FX A 20,000
& 10,000
Al 10,000
307 2iz2to| A 30,000 50,000 A 20,000
& 15,000
Al 15,000
02 QIZFA AAIE E X 30,000 50,000 A 20,000
OJIot 2574 =03 30,000
o= 15,000
Al 15,000
401 Al HI L 2 0HHI 480,000 20,000 460,000
= 240,000
Al 240,000
01 Al& H| 475,536 20,000 455,536
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2N 230z
dM: FoM BEEES
tel: SEE3M BEEFH (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O+&cl NERS NZ2ZA
100,000, 000& *99. 1% 99,100
< 49,550
Al 49,550
OSAHE HESE LBIM
100,000,000& *99. 1% 99,100
< 49,550
Al 49,550
O&Wel Z20tXI| D2z =2 AM
100,000, 000& *99. 1% 99,100
< 49,550
Al 49,550
Ous N S+ ANZ2EZM
100,000, 000& *99. 1% 99,100
< 49,550
Al 49,550
Ootg ™ 42| otdd A= XA
30,000,000& *98.92% 29,676
< 14,838
Al 14,838
OLRNY a4 2 24 FUHHIA
20,000,000& *98.92% 19,784
< 9,892
Al 9,892
Oy K12 & S D22 F=HE|
30,000,000& *98.92% 29,676
< 14,838
Al 14,838
03 AIE 2 0H I 4,464 0 4,464
O=Zc2dl ME=& Ag==A
100,000, 000& *0.9% 900
< 450
Al 450
O=2ls HMERH Z€=2XA
100,000, 000& *0.9% 900
= 450
Al 450
O&uel Z20tXI| D3 =AM
100,000, 000& *0.9% 900
< 450
Al 450
O&tsH NEL S AIZI A}
100,000, 000& *0.9% 900
< 450
Al 450
ootg ™ Hel ot A2 XA
30,000,000& *1.08% 324
< 162
Al 162
O3 sy & S+ HUSEIA
0,000,000 x1.08% 216
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el
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09 o ton

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

4r
J
r

H

108
Al 108

,000,000& =1.08% 324

162
162

= M

SHNE S L SE2s M B8 XN (EX) 6,350,000 3,481,400 2,868,600
4,445,000
952,500
952,500

= M W

207 &A1 OH & H| 50,000 0 50,000
35,000
7,500
7,500

= M W

50,000 0 50,000
OHE AR SEEUIHE > 50,000
35,000

7,500
7,500

2
O @
o
0io
12
=

0

=z N H

401 AIEBIZ 2 THEI 3,860,000 981,400 2,878,600
2,702,000
579,000
579,000

= W

01 Al& b 3,782,648 924,776 2,857,872
OWZA HEOIDIEIH AR A L 222 2F|

2 SH2L, EONMH S M=
285,000,0002 %99, 28% 282,948
198,063
42,442
42,443

= M W

@)
i
0
o
0
H
ox
1%
>

2= XA

1,000,000, 000& *99.37% 993,700
695,590
149,055
149,055

= M W

od

0

Sd =544 EX0HY
2,500,000,000& *99.64% 2,491,000

1,743,700
373,650

373,650

48 24 X2 10,000
7,000

1,500

1,500

O&dlel LEuU® B 1% 5,000
3,500

750
750

02 Zeldl 60,000 50,000 10,000

= N

OXiel &t

ra

= N W

= MW
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Hl w

10,728

260,000

A 60,000

213,000

313,000

310,096

H3r
Wikd
RIS

6,624

2,500,000

2,500,000

1,050,000

950,000

943,304

Off &t 24

20,000

i
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3,000
3,000

40,000

28,000

!

Al

fir

H

6,000
6,000
17,352
2,052

Al

i

1,437

308
307

H

Al

6,300
4,410

fi

945
945

H

Al

9,000
6,300

i

H

1,350
1,350

2,440,000

Al

i

1,708,000

H

366,000
366,000
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Al

680,000

fi
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H

102,000
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Al

1,232,000

rr
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264,000
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Al
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Al
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2N 2EeD
B 25l 2EMS
Sl RSN 2ERY CERED
SA - BAEN) - NRAY - LS 0l &F 24 il HRE2
= 73,550
Al 49,550
OLe 2R 828 WML
400,000, 00021 *99. 28% 397,120
= 198,560
Al 198,560
OB s BT HA22
60,000, 0002 +99. 1% 59,460
= 29,730
Al 29,730
ONEBHA 22X L 4T NESIM
20,000, 000! *99. 28% 218,416
= 109,208
Al 109,208
OWRMASZIHAYSHY SE4 WS
150,000, 0002 %99 28% 148,920
= 74,460
Al 74,460
O=A 227 Jige4
30,000, 000! *98.92% 29,676
< 14,838
Al 14,838
OFLMNEBBYA 45 L GZ2L
40,000,000 *38.92% 39,568
= 19,784
Al 19,784
ONZY HEFY Y2 HE22
60,000, 00021 *99. 1% 59,460
= 29,730
Al 29,730
OBZENR DN NSS4, 42 &%
100,000, 0002 *99. 1% 99, 100
= 49,550
Al 49,550
OSXRIZI} O L S IS, s
=SIVEED] 38,580
= 19,290
Al 19,290
OCRXItHE 2BEH2 14,000
= 7,000
Al 7,000
OIUANZTLYSHYERY U SXRBAD
QA FH HAE24 2B 30,000
= 5,000
Al 5,000
OS&TH T Ful 20,000
= 10,000
Al 10,000
03 A& 2 THHI 9,600 6,696 2,904
OLeSD HEN S5 U SREH, WL
HYUoHHE 100,000, 0002 *0. 9% 900
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25 230z
HM: 2o BE&dS
&2 RE23 M B=FUI (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Al 2,415
401 AlEHIZL 2 0HY| 110,000 0 110,000
= 69,000
== 12,300
Al 28,700
01 Al&H| 110,000 0 110,000
O=2AdM &EIIAIE MM 40,000
= 20,000
=} 6,000
Al 14,000
OSHM S™EAIE &X 50,000
= 35,000
& 4,500
Al 10,500
OZ2a M AgAld &X 20,000
= 14,000
= 1,800
Al 4,200
HEANE EEXK(BEX) 520,000 0 520,000
= 260,000
= 130,000
Al 130,000
402 SI2t 20| & 520,000 0 520,000
= 260,000
& 130,000
Al 130,000
02 X2 A E X (0| & THS) 520,000 0 520,000
O=2=2 QA W= 200,000
= 100,000
= 50,000
Al 50,000
OWRAl Y2 U M2 IS 280,000
= 140,000
= 70,000
Al 70,000
OSEAN &2 40,000
= 20,000
& 10,000
Al 10,000
HEAE BIHAIAE A=(EX) 136,000 306,000 A 170,000
= 68,000
= 34,000
Al 34,000
402 SI2FXH=20| ™ 136,000 306,000 A 170,000
= 68,000
= 34,000
Al 34,000
02 QIZEXIEAIS EX (0| XM THL) 136,000 306,000 A 170,000
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2N

X{ XH -
S =

0 fot o

30 A0 MO

S St 2 (&2 &)
SN EY B (3H) - HMEAY ﬁlf& HD=2

ObHe AE A= 136,000
= 68,000
o= 34,000
Al 34,000

b} 2 2ETH Al S (BX) 73,444 28,280 45,164
= 36,722
& 18,361
Al 18,361

BtE 73,444 28,280 45,164
= 36,722
& 18,361
Al 18,361

=32 73,444 28,280 45,164
OE& SAE = 10,662
= 5,331
< 2,665
Al 2,666
Osd SXe2 3,644
= 1,822
& 911
Al 911
o= SAE 6,196
= 3,098
= 1,549
Al 1,549
oss SNE£ 14,306
= 7,153
== 3,576
Al 3,577
OHE A SAE = 6,196
= 3,098
= 1,549
Al 1,549
(@F3= SANE$ 5,194
= 2,597
o= 1,299
Al 1,298
o SAE = 7,746
= 3,873
= 1,937
Al 1,936
o= A SIe2 7,746
= 3,873
o= 1,937
Al 1,936
on=s SN 6,196
= 3,098
= 1,549
Al 1,549
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e
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0x
o

Off &t 24

=

i
2m

= N W

5,558
2,779
1,389
1,390

= MW

72,000
36,000
10,800
25,200

86,000

A 14,000

307 glztol &

= M W

72,000
36,000
10,800
25,200

86,000

A 14,000

E
i
HO
o
=
i
]
=
QR

= W

72,000
72,000

36,000
10,800
25,200

86,000

A 14,000

= W

74,000
37,000
11,100
25,900

67,000

7,000

307 21201 &

= W

74,000
37,000
11,100
25,900

67,000

7,000

= W

74,000

74,000
37,000
11,100
25,900

67,000

7,000

H

Al

4,000

2,800
1,200

4,000

307 21201 A

H

Al

4,000

2,800
1,200

4,000

4,000

4,000

2,800
1,200

4,000

30,000

15,000
15,000

30,000

307 glztol &

Al

30,000

15,000
15,000

30,000

30,000

30,000
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2N
X ZH -
L= B

el

30 A0 MO

= ot

09 o ton

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIoFr23t s e 120l 24 30,000
< 15,000
Al 15,000
O 23R4 I EZA} 650,000 0 650,000
401 Al HIZ 201 8] 650,000 0 650,000
01 A& HI 645,005 0 645,005
OsHES HME=A ANg==A
185,000, 000& *99.28% 183,668
O=Zcd HME=& Ag==A
145,000, 000& *99.28% 143,956
OZFuwel Z0OXJl DE(LRE) ML A
85,000,000& x99. 1% 84,235
OSstat S+ AE=Z A
145,000, 000& *99.28% 143,956
OO0t e A=At 90,000,000& *99. 1% 89,190
ooty 3LXE SEXZA 0
03 Al S THHI 4,995 0 4,995
OsHES HME=H Ag==A
185,000, 000& *0.72% 1,332
O=&cl MEKRHE AZ2 XA
145,000,000& *0.72% 1,044
OZFuwel Z0XJ| DE(LRE) AL A
85,000,000 x0.9% 765
OSstat S+ AE=Z A
145,000,000& *0.72% 1,044
OO0t s A=At 90,000,000& %0.9% 810
SEEM 2 225,800 218,600 7,200
= 15,000
= 67,830
Al 142,970
dR=sYEES AZ 5,600 5,600 0
307 21201 A 5,600 5,600 0
02 QIAHFAAHEX 5,600 5,600 0
OX¥=Hs HAEYE "EH 5,600
s 85 245 M(EX) 12,000 39,500 A 27,500
< 4,800
Al 7,200
301 LA Z 12,000 12,000 0
< 4,800
Al 7,200
1MIIEESS 12,000 12,000 0
Od3s dsstn NE32Y 12,000
< 4,800
Al 7,200
g3 dsR=0 EE3 ALY 30,000 30,000 0
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